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Supplementary Figure S1. Call rate distribution in the AYB Population
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Supplementary Figure S2. Marker reproducibility distribution in the AYB population
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Supplementary Figure S3. Proportion of missing data (SNP markers) distribution in the AYB
population
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Supplementary Figure S4. Minor allele frequency distribution in the AYB population
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Supplementary Figure S5. Proportion of heterozygous (SNP markers) distribution in the AYB
population
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Supplementary Figure S6. Proportion of heterozygous (based on genotypes) distribution in

the AYB population
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Supplementary Figure S7. Proportion of missing data (based on genotypes) distribution in the

AYB population
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Supplementary Figure S8. African yam bean SNPs aligned on different chromosomes of
common bean genome



